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A ball is thrown at a 35° angle off a 100 m high cliff at 25.0 m/s. (a) How long does it take to hit? (b) How far

from the base does it hit? - &
Vs Ve=2€%  Lg=Uicos® A*— Jx S 2 (6. 2s)
19 - :2S’%¢o5;5° -ZO/Q S ¢ S
X - 2
AYF-(o0n Vk=205% b)[ak = 127
{/"j ’,U(' SHME V—Fz—: V[‘9 Z.’t.. 2&4_9
2K = 25% 573S = (143 ) raCREEN Yeor)
Vig = 1433 z U(5='4"5% £ = - t6:SE ~/93Y
Ayz Uiyt+4at _ -9.8%,
-/o?:: /4?3'6-4.9{ ¢ 1\ £y ’Udaﬂ‘i

s A
N[E=Eals] 229 Xt =%
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A ball is thrown at a 38° angle off a 150 m high cliff at 22.5 m/s. (a) How long does it take to hit? (b) How far

from the base does it hit? ax=Uxt€
¢ ~ =V,
=22,5% \xzV/ Cos© =77,7%(7.(3s)

222,54 cos 3%°
y .225.’,; Oax= 126~
__'_(_:_.{.Z'__... V‘fﬁlt Uc‘jl'f ;aéﬂ

[

‘9

e e s (3DR2(75L e
' Ve :-56.07% =564 -35%

Vig=13.9% —
2 3:!).‘3‘6*‘;‘_&7(1 Ve y ”Ul'ﬁ ¥
e mae et p Exlealis o [E2 1034

a
a) [€= 7r/3si)"4:2‘?$ ok

8° Honors Physics — Angled PrB}ectile quiz 9 10-16-02

A ball is thrown at a 42° angle off a 95 m high cliff at 35.0 m/s. (a) How long does it take to hit? (b) How far

from the base does it hit? T o ax=Ux €
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